Physics and Astronomy Department
College of Sciences-King Saud University
Phys 104, Midterm Exam #2, First Semester 5/02/1434 H
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k= 9x10° N.m*/C%, £, =885 x 10 CYN. m’, |ej=16x10"C  G=667x10 ”Nm"/kg
m,=1.67 x 107" kg, m,=9.11 x 10! kg, e=98mis,  u,=4nx 107 Tm/A
Choose the Correct Answer Exam Duration: One and a half Hours
All Answers are given in MKS

unless the unit is stated '
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Q1- For a capacitor of 5 mF without a dielectric, what would be the capacitance if a
dielectric of K =2.6'and strength (E,4) of 2><106 N/C is inserted between its electrodes?

A) 24 B) 0.013 C) 107 D) 4x10°
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Q2- If the stored energy in a capacitor having potential difference of 100 Vis 0.1 J, the

stored energy for a potential difference of 200 ¥V is:

A) 0.025 B) 0.05 )04 D)l1.6 -
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Q3- Two million protons pass an area in 20 usec, the electric current is:

A) 16 x10° B)3.2x10° C)3.3x10°7 D) 8
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QQ4- If the current in a conductor is doubled as well as the conductor cross-sectional area,
the drift velocity is:

A) reduced to half  B) doubled C) constant D) increased 4 times
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Q5- When electric current passes through a resistor of 20 €2, voltage of 12 ¥ is measured
across its ends. The electric current equals:

A) 220 B) 1.66 ) 0.6 D) 0.044
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Q6- Three identical resistors, each of R resistance, are combined to produce equivalent
resistance of 2 R. Which of the following circuits does show the way of their
combination?

A) “M’“’m B)% C)m D) AW
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Q7- A resistor of 3 Q at 0 °C has resistance of 8.5 Q at 150 °C. Its resistance at T =100
2 s
C s

A) 6.67 B)5.17 C)4.02 D) 3.23
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Q8- What is the cost, in Saudi Riyals, of using a 200 W lamp continuously for a period
of one year (360 Days), knowing the cost of 1 kWh is 0.05 SR?

A) 1500 | B) 86.4 C) 86400 D) 1.5
_ 8 Q2 Aa gl 3 Ll il Jlase e -G
(Q9- What is the current passing through the resistor of 8 {27

1 12y 68

A) 0.66 - B)2 C) 2.66 D) 3.36
T5 T Lagia (8 ke (S 13] 408 vie (paalaie (el e Gllee Alaas yiea Lo 1 0om
Q10- What is the magnitude of two perpendicular magnetic fields at a point if the
magnitude of each is 5 77

A) 0 B)7.1 C) 10 D) 13.7
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Q11- A magnetic field of 20 7'is acting on a charge of 5 #C having a velocity 50 m/s
parallel to the field with force of:

A) 0 B)2.5x10~ Cy5x10° D) 20 x107

spee ke Jlaall e B 1a i 4y gl 5 ey ariana il B pay U e 5 el puudalinall 3 gl S ]2
Q12- The magnetic force acting on current passing through a straight wire tilted with an
angel 0 relative to the field is proportional to:

A) cas(@) B) tan(0) C) cot(0) D) sin(0)

tob X85 10 4 o8 Hlilgd yar 3 O la o8 Ae gl 3 Al ZaUl 13
Q13- The energy delivered to a resistor of 3 {2 with a current passing through of 10 4 for
one minute is:

A) 30 B) 300 C) 1800 D) 18000
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